HEGTHHAIEZESER
RF 108§ 2 A 20 H
i B BEBER-EGRE
T E 885REKE o 8 BURENE
HEAS : IR

oEFWME : B

R
]ﬂ%ﬂ%«ﬁm*ﬁ&iﬁ&q;ﬁﬂ{} 108/3/1 6 4 st & 7% o
2. R e it Ae- BHA (TT3N)CGE 4 4 3212 F3p 8 ) kb 22
Lz TR ERGFIRBALEEFIFELZRE L HEHa b L FTRRE
WQ“WW'WmL4W$” <TL4W%Eﬁ%g
3.RELRE ] w108 £ 17 1T P &Rk Eripihide™ :

(DA~ E oz B k> % A-D o fi v & Aa\ﬁa(i#% & 2240M° ~ 1+ F
2060M° ~ 4 ##7 670M2) ¥t g AR B4 4 % 4000 1 8k 2600
BEArI1000= s 2pi?* > P VHRESF- Sk: EEFRELENEL
€ * o

() AT~ et 2 B Afe s Bl~T @25 52 8 &~ 245 #4097~ 3~4
ﬁéi%}‘5~6ﬁé“§ﬁ°

(DHE TEBlZEH 4L WEAFZFHI00M0 3 24 5 - 48 55 4
LRt 50M

BE*a A W) RAWT Z KB H RRAED 7 2R eH
(2 2%)
4 F 3814 m? | 45.06% 2241-50=2191 m? 400m? (- A& H)
v g 3509 m2| 41.45% 2062-50=2012 M? | 260+60 & # & =320mM?
¥ 1142 m? | 13.49% 670 m? 100 m?
8465 m? 100% 4873 m?

a. B1:475m?+ 1F: 632 m? + 2F: 670 m? + 3F~6F: 774 m? =4873 m?
b. 2HAFFEEY 21 4610 F!;’ B G % 5 7510m°(2 % v 35%)
A4 A (RERAP)ZEAD A

e Ut 10V S — P FEEL

=>4 & 2% 2+ (108/2/15~108/4/27)
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=>3 1 % 12 (110/6/26~110/8/24)
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